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2A: sglI=48H

HM: SHAMA Sha N SA (SEHS4A /s E)

@l 2880 sHRE JIEtE (¢t &
SO (B H) - HEAY - B2 oH HdE T H D=2
- M * - = B i Ry = O:H{ﬂ,% U=sa

= 207,000
= 150,000
= 10,524
= 157,360
Al 1,300, 182
SEH0 AT Jjetxd 633,921 564,500 69,421
= 43,700
= 8,120
= 58,720
Al 523,381
SIH el At 110,713 114,050 N3,337
201 Et23d| 37,243 35,930 1,313
01 AtR22teldl 1,000 1,500 AB00
OsJ|AH =& 1,000
—&s 50,000& * 2= x 5H 500
— &3 100,000& = 1= = 5H 500
02 ss2494l 36,243 34,430 1,813
OsJIHEANREZE M2
100,000& = 12& 1,200
Onss=sJH 1,560
-4 % 1,500& * 600 ¢ 900
—3|es 1,650& * 400 ¢ 660
OsIIHLNESE et 633
-= = 1,055& * 600 ¢ 633
OsJIAHS X 4,100
—&27| 200, 000& 1CH 200
— ESiH 500,000& = 3CH 1,500
— 24l 300, 000& 1CH 300
-0l 200,000& 1CH 200
—=22J](SS21) 300,000& = 3CH 900
—SZ0 I 200, 000& 1CH 200
—sE=4] 300, 000& 1CH 300
—=s=SEDAMMNAR 200,000& 1CH 200
— Kl A Xt 300,000& 1CH 300
O2Us=sJIH SA&eldl 12,350
—AS(H2AEI|2 158)
50,000& * 83CH 13 4,150
—S8(=5F8X4d0|2 108)
100,000& * 38CH 13 3,800
—EE (™I 95)
200,000& * 22CH 13| 4,400
OdUssIIH =X 22|l
2,000,000& 1CH 2,000
ogdl, nseg s BE2
8,000, 000& 13 8,000




SN
X XH .
S Tt

el

}\_I X xH C|-O|(§Ij:”) = I.O-l HAXZ A} OH II_-ILjL:— =2}
OSIIHBANSH 28 LelHolH KX 2
21| 2,800
—gael| 150,0008 + 122 1,800
—RuselRE 50,0002 * 2034 1,000
OSIIHZRZ2 (AW, SBH2I) MBIA
g2 150,008 * 128 * 2% 3,600
206 T2 66,000 66,000 0
01 MHEH 66,000 66,000 0
OsIIH 3|42l 66,000
-}y 22 20,0002 * 3,000 60,000
—Z7 YL 43S 20,0002 * 3000H 6,000
301 Yerte Az 2,520 2,520 0
10 BAAEI 242 2,520 2,520 0
OJ1H5 =8 KO
70,0008 * 6% * 63l 2,520
405 RHAHE S| 4,950 9,600 A4,650
01 XAYSEH S| 4,950 9,600 ~4,650
ORS % AUE S+5I1H 7 4,950
—=2 20130 4,950,0002 * 1CH 4,950
soolags 29 52,920 16,920 36,000
201 Y2y 16,920 16,920 0
02 T2l 16,920 16,920 0
O®II22 10,0008 * 34 + 122 3,600
OXRX 4 SR 4,500
—5081(ABBI2, ZR)  1,500,0008 « 1CH 1,500
—5082(2 832, FR)  1,500,0008 * 1CH 1,500
—5083(2E32, FR)  1,500,0008 * 1CH 1,500
Ol
12028 * BAIZt * 1.0Kcal * 1,008 * 344 2,880
Ol
302 « BAI2F * 1.0Kcal * 1,0008 * 32 720
OAS R 300,0002! * 344 900
OZSEISXL 120,008 * 3H4 + 122 4,320
401 AIEHIL 2] 36,000 0 36,000
01 A&l 36,000 0 36,000
OLEXNRNA OIHY G2 4= L SFA &
X B AL 1,500,0002! * 10 15,000
OZSXNPRA Ol 2001 ZA
200,0002! * 30m 6,000
SRXNAXA £E L SHFA SXTA
1,500,0002 * 10m 15,000
SUAATLE ALY 7,008 9,898 A2,800
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2A: sglI=48H
ME: SAAYY B NCAL(STHSFL/5Y - 5E)
@ 2880 sg9XE J|etx Yy (¢t &
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
= 1,540
Al 5,558
201 B3| 4,898 4,898 0
01 At22tell 2,860 2,860 0
OsgllsdH EHOIX 2 22/d| 2,860
—=SHO0IX 2% 22yl 230,000& = 12& 2,760
—SXAHIA AIAE 29
100,000 = 14! 100
02 =294l 2,038 2,038 0
OPQIHY! SAMEE AIAE SHSEA X 22| 2,038
—2MNHIA 0lE= 25,000 * 6CH ~ 12& 1,800
—Raols= 3,300& * 6CH ~ 128 238
405 KHAHF SH| 2,200 0 2,200
= 1,540
Al 660
01 ML =S FHSHI 2,200 0 2,200
OsgIIaS &Hd|(2&) 2,200,000 » 104 2,200
= 1,540
Al 660
SsHI=&8 49,780 79,780 A 30,000
201 LBEt2AH| 19,780 24,780 A5,000
01 AP Zeltl 18,880 23,880 25,000
OSEXNTAY S2S SHHS HBHE
100,000& * 5& 500
OsZEXNEAY E2EHES MH
1,000& * 5,0000H 5,000
SN 2sE BSHT
200& * 3,5000H 700
OsZXNEAIYE EEE AKEY 1,050
—ol 3 500& = 1,0000H 500
—=c20lE 28 6,000& * 50= 300
—=c20l& Si 5,000& * 50= 250
OJlsZ28 HEBBMANE &850+ ME 1,100
—AFRL & MR} 150,000& * 2= 300
— 2 HE 200,000& * 4% 800
OsgIlsdE 288 AXHE
30,000& * 145 x 43 1,680
OEFsZUA(HR, HE, HA) AHE 22t
5,000& = 1,000 5,000
OYFSHHA(HO, HE W) Ao %=
=4 70,000& = 154 1,050
OdF=sgUa(gel, 35, ") Al4
500,000& = 3& 1,500
OJIEFRI =&Y 1,300
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2A: sglI=48H
B =AM BA X SRANSL/EY - BE)
e 282 s E (¢t &
A BRI (BH) - NEAY - BaS Aol a4 HRSZ
T * - [== I i e (O = O:H{ﬂ,% VSso
= 10,600
Al 10,600
01 2| 14,200 9,000 5,200
omS sy A(HENCe73)
255,000& * 20Y * 23] 10,200
= 5,100
Al 5,100
ONESRE =390 4,000,000& * 1H 4,000
= 2,000
Al 2,000
04 = HMSHYI 7,000 0 7,000
OXNEBRA A4 7,000,000& * 14 7,000
= 3,500
Al 3,500
S H EHAIE(2) 33,000 12,000 21,000
= 16,500
Al 16,500
201 B2 AH| 2,000 2,000 0
= 1,000
Al 1,000
01 AP 22l 2,000 2,000 0
O8Z o|lg2lIzsus UM
10,000 * 100 * 23| 2,000
= 1,000
Al 1,000
301 et A= 1,000 1,000 0
= 500
Al 500
10 SHAFAHIE A 1,000 1,000 0
O8zZ o|2l|sus 24
5,000& * 100 * 23] 1,000
= 500
Al 500
405 KHAHF S 30,000 9,000 21,000
= 15,000
Al 15,000
01 XA Z2EF SH| 30,000 9,000 21,000
OsgIH ue =&y 30,000
—gg 4] Tl
30,000,000& = 1CH 30,000
= 15,000
Al 15,000
MAZEASIAIES 3,600 3,600 0
= 3,600
202 (4l 1,200 1,200 0
= 1,200
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2A: sgI=HH
M SRRV A NCAY(SLHLAL/ 5 - 5E)
o9 EBHO SYUNE JIYES LR
M- (B H) - HEAY - B2 Al OH &EIE Hn=2
=] i o ) ° - = Rl e =5 0:”/|l|,% Lsa
01 =LA bl 1,200 1,200 0
OstSALETAMEA ALK ]
20,000& * 23| * 30 1,200
= 1,200
301 LEEAZ 2,400 2,400 0
= 2,400
12 JIEtE2 43 2,400 2,400 0
OstBLASZAZA ZASIH Atdl =
80,000& = 30& 2,400
= 2,400
AP =YL EF(2) 3,000 6,000 A 3,000
= 1,500
Al 1,500
201 L2 H| 3,000 6,000 A 3,000
= 1,500
Al 1,500
01 AtR2t2ldl 3,000 6,000 A 3,000
OSYAAINSHBLES NASS
15,0008 * 2& = 1008 3,000
= 1,500
Al 1,500
NEsHdIes2283E83HXE) (=) 10,000 9,000 1,000
= 5,000
Al 5,000
101 el4H| 9,500 8,968 532
= 4,750
Al 4,750
04 JIZtM22XSE+ 9,500 8,968 532
ONYGSst=d)I=d 2083 & XA
38,000& * 250 9,500
= 4,750
Al 4,750
201 LBt A 500 32 468
= 250
Al 250
01 AtR2t2lH| 500 32 468
ONEEst=HI =3 2B kX2
25,0002 * 108 * 23| 500
= 250
Al 250
DA EsE 23 (E) 5,400 5,400 0
& 1,620
Al 3,780
01 et 2,400 2,400 0
& 720
Al 1,680
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SA: SIS HE
HE: SUAMY SN NCAY(SYHSSM/5Y - 55)
Sel: SEN0 SAXNE JIBEy (649l &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod i 2
01 At 2t 2,400 2,400 0
Ozl HeX N
8,0008 * 255 * 128 2,400
= 720
Al 1,680
202 01| 3,000 3,000 0
= 900
Al 2,100
04 =M &t 3,000 3,000 0
Os& SEEINR
3,000,008 * 1% 3,000
= 900
Al 2,100
=olol NSE 34,500 39,000 ~4,500
= 9,100
Al 25,400
206 T2 22,000 9,000 13,000
= 6,600
Al 15,400
01 Ml 22,000 9,000 13,000
OHgARS S0IS A3
10,0008 * 220% 22,000
= 6,600
Al 15,400
405 R&HE 12,500 0 12,500
= 2,500
Al 10,000
01 Xtaru2ZH S| 12,500 0 12,500
OS2I (SE220) 7Y
12,500,0002! * 1CH 12,500
= 2,500
Al 10,000
SUAYFBHAAR(E 10,000 10,000 0
= 3,000
Al 7,000
201 Y2 Y| 4,300 6,000 A1,700
= 1,290
Al 3,010
01 AtRel 4,300 6,000 A1,700
O=oIAYOANEY NSNS 29
86,0008 * 105 53l 4,300
< 1,290
Al 3,010
301 YA 5,700 4,000 1,700
= 1,710
Al 3,990
10 BALAEI 2 A2 4,950 3,300 1,650
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2N 5
XM ZH: =
S Tt ==

&8

el

il
x
2
I
o
0
for
X
=
il
E=
11
g
0x
Jo
=
rz
12
=204
i
121
[EI=
£l
Ol
0

5,000& = 30% * 53 750
225
525

= M

OsoIZA0NEY DSV HTOIH)
70,0002 * 30 * 23l 4,200

1,260
2,940
750 700 50
SN ALY 750
—Jes 100,000 * 53] 500
150
350
/L] 50,0002 * 53l 250
75
175

= H

oY oy
02
2
=2
om
EJ

o

=

=z H

HB2(%) 240,000 230,000 10,000

38,400
201,600

= M

402 2I2bHE01M 240,000 230,000 10,000

38,400
201,600

= H

22X 240,000 230,000 10,000
sIIAH K&
2,000,000 = 240CH * 50/100 240,000

38,400
201,600

01 2I2tX+=
=]

= M

elHUes 29 ¥ HEx HA(E) 6,000 0 6,000
1,800
4,200

=z H

405 Xt&bE SHI 6,000 0 6,000

1,800
4,200

= H

01 MHMH=SFSHI 6,000 0 6,000
TV(IPTV) =AY 6,000,000& * 14 6,000

1,800
4,200

=

sIHAHE2Y HIHHIXE(Z) 16,000 0 16,000
4,800
11,200

= H

402 22t =01 16,000 0 16,000

4,800
11,200

=z H

01 2IEAEE X 16,000 0 16,000
JIAtE 2 ot M EXIXIJ

40,0002 * 400X 16,000
4,800

H
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Oggte3g 100,000& = 123 1,200
OLALE SN2 50,000& * 12& 600
OLA2 =&H| 8,540
—S A 2l (aE) 500,000& * 1.50H 750
— T2l #2ld]
100,000& * 5CH * 50/100 250
—SAMI ElH 200,000& = 53| * 1.504 1,500
—ZElEII(5%) EY
200,000& = 53| » 5CH 5,000
—PC==2lH| 100,000 = 22CH * 20/100 440
—JI&t =2l 50,000& * 12& 600
OJIEt IR ES 5,000& » 2298 * 12& 1,320
(OFS 3= PNEN 6,610
—=SAMEX 2dl 13,0008 * 5%A « 128 780
—E201&ldl 5,000& » 34 = 5FH « 12& 900
— Yt 100,000& * 3IHA 300
—42 =44 4,330
C=ADI(28) w2y
500,000& * 1CH * 30H=A 1,500
ZeIH Il ==cldl
100,000& * 3JHA * 50/100 150
- SA EH 200,000& * 23| * 304 1,200
Z2IHIl EH 200,000& * 23] * 30 1,200
- PC=2lHl 100,000& = 500 * 20/100 100
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M s€lis4dH
Hu: WESARY (SEXNT]H)(IIEH/IIE)
el Jl=3 (el =3
_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0] &F o e HlE2
- JIEt==2lHl 60,0003 * 304 180
—JIEt AR ESHI 5,000 = 59 « 128 300
202 O4H| 101,670 97,810 3,860
01 WY 86,670 82,810 3,860
OsEXNEl 2F8 oyl 84,920
—2HHOHl 20,0003 * 22% * 122 » 128 63,360
— 220l 70,0003 * 22 * 144 21,560
OX X2 220l 70,0008 » 5H = 5& 1,750
02 XN 15,000 15,000 0
OXTAA =g FAOIY)
250,000& =+ 5% = 128 15,000
203 R4l 4,200 4,200 0
04 RA2ILRF=LH| 4,200 4,200 0
ORNM2ELRFEHI (X ASHELE)
350,000& = 123 4,200
SRFAD|E 2L (sEHHS /5 - SE) 3,456,358 3,104,451 351,907
= 391,433
Il 340,055
= 561,917
Al 2,162,953
stR4e =4 1,185,533 900, 364 285,169
Il 149,483
< 217,169
Al 818,881
A0 H(2) 123,203 122,776 427
Il 76,493
& 14,013
Al 32,697
307 G12t0ld 123,203 122,776 427
Il 76,493
< 14,013
Al 32,697
02 2ItBAE X 123,203 122,776 427
o270 =H Al 123,203,000& = 14| 123,203
Il 76,493
= 14,013
Al 32,697
ISR HAHAL(E) 33,360 6,540 26,820
& 10,008
Al 23,352
307 G12t0l A 33,360 6,540 26,820
& 10,008
Al 23,352
02 BIHANEX 33,360 6,540 26,820
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| = HE
ZADIE T (SENL LA /S - 55)
QY Y (2 &)
- _ _ ME
SMN-HHM .. AHA(SH) - MRAY - BES AFoH Ol AF o8 Hus2
OZABLMMO|BZHAAH DS
30,0008 * 1,112% 33,360
[ 10,008
Al 23,352
OFXI &4 AHOFH AL () 43,800 43,800 0
[ 13,140
Al 30,660
306 E13 43,800 43,800 0
[ 13,140
Al 30,660
01 213 43,800 43,800 0
OSOHXI A A OFF AL
20,0008 * 4,3805 = 50/100 43,800
[ 13,140
Al 30,660
A2 M AT RAL (F) 146,430 118,900 27,530
< 43,929
Al 102,501
307 ©I2+0l& 14,430 8,100 6,330
< 4,329
Al 10,101
02 QAANEX 14,430 8,100 6,330
OZEXTH Xl (2180002 *22ha*30/100)
14,430,000 * 14! 14,430
< 4,329
Al 10,101
402 QI+ X0l ™ 132,000 36,000 96,000
[ 39,600
Al 92,400
01 pI2txt=s 132,000 36,000 96,000
OZArSHAD| T (AL 2 HHE D)
30,000,000 = 2CH * 60/100 36,000
[ 10,800
Al 25,200
OX A2 AT AAL (ZAI2 M AEHIHIXI &)
40,000,0008 * 4HIE * 60/100 96,000
[ 28,800
Al 67,200
FER EYE 4 AY 295,400 292,500 2,900
201 LB A 25,000 33,500 A8,500
01 AF222/Hl 5,000 8,500 A3,500
OYzsle BHE EEAY A 5,000
—228 M= 4002 * 5,00000 * 2% 4,000
— I 200,0008 = 54 1,000
02 B2l 20,000 25,000 A5,000
ORL=42 Y 1= 20,000,008 * 122 20,000
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SN SIlEHEH
BE: QAELI|P T (SPHNSSN/SY - 5E)
ool HRM4Y S4 (el &2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 il b o HRs2
301 YLErEaa 25,000 25,000 0
12 JIEtE2 4= 25,000 25,000 0
OMNBAZEA HACCP Q15 2148 g
5,000,000& * 10JH4 * 50/100 25,000
402 It THE01H 245,400 230,000 15,400
01 BIHGE2EL 245,400 230,000 15,400
ODNEBN FFES SUCS LAY 245,400
-s=s=(2ss5\)
6,000&* 8,000 * 80/100 38,400
—gES=2 JHA =2
25,000 * 1,500 * 80/100 30,000
~DEI SUCSM M2
100,000& * 5005 50,000
~UFES SN DESIA
11,000& * 10,0005 * 70/100 77,000
—HIE=J] MZ2X&A 50,000& * 1,000 50,000
ZAZMHAD|BHE S AL (F) 147,990 209,612 AB1,622
| 72,990
= 22,500
Al 52,500
301 LetEasg 147,990 97,920 50,070
J| 72,990
= 22,500
Al 52,500
12 JIEt2 4= 147,990 97,920 50,070
OZAZ AT BHat S AL (A2 XIRIZHI)
1,200,000 * 125ha * 90/100 135,000
| 60,000
= 22,500
Al 52,500
OZAZ AT BHat S AL (B2 22 HI)
12,990,000& * 14 12,990
| 12,990
SIRMSAE(Z) 116,230 88,716 27,514
& 30,193
Al 86,037
301 LetEas 48,400 41,800 6,600
= 12,705
Al 35,605
12 JIEtE A3 48,400 41,800 6,600
OB 2MTAY (ABLHUXH)
550,000& * 1105 = 80/100 48,400
& 12,705
Al 35,695
307 S12t01& 42,420 24,280 18, 140
= 12,726
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SN
X XH .
S Tt

el

o rx o

10 A 0Q

=

e rx M
S

rz

11
x
2
o
i
10
5
X
=
1
=
1%
g
0x
Jo
2
>
]2
=20
R
12 H
o
£l
Ol
0y

Al 29,694

02 2ItAAE X 42,420 24,280 18,140

6,000& * 4,5005 = 70/100 18,900

5,670
13,230

= H

OBRMBAY (BIRS=R ABLHERXH)

2 x 1,1205 * 70/100 23,520
7,086
16,464

=

402 BI2H K201 25,410 22,636 2,774
4,762
20,648

=

01 2IEX=Ex 25,410 22,636 2,774

3,300,000& = 11CH = 70/100 25,410

4,762
20,648

=z H

EMSIDINTHAE(Z) 244,220 17,520 226,700
72,916
171,304

=

402 QI2tHE01M 244,220 17,520 226,700

72,916
171,304

=

2X 244,220 17,520 226,700
O0l=AtE dodMOEH X3
17,000,000& = 102 * 60/100 10,200

3,060
7,140

0:

=

O=At2IZ2EE & SIIAAEIHS

0,000,000 * 1JHA = 50/100 15,000
4,500
10,500

= H

OHAM=E HMelAlg XI&

30,000,000& = 2JHA +70/100 42,000
12,600
29,400

= H

OA0orZ Il K&

10,000,000& * 15CH * 50/100 75,000
22,500
52,500

=

OSSN THX A (LS ALAIE X R)

10,000,000& *1J0HA * 70/100 7,000
2,100
4,900

= H

OF &SI XHH X3 A

(RsSHLIIXE)
2,000

,000 = 8CH =80/100 12,800
3,840
8,960

=z H
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ror 2 Oif
40 A 12

=
e rx M
S

(R ]

S - " . (3] H) -

NSANE - E

15

s=

22
J2

20
B
2

O b= IR K& A
1,800

OFMsIIIMHA 2L (BLS2XH)

O= | XHH K| 2 AFES

OF I X3 AL

O

Pall _HHl

AT K & A
N

2|
T:

OF LI HAI 2 AL

\/
N
o
S
S
o
S
S
[0
>*
S
O
o
*

_;—'—

A(LEsLZZXEAEL)
& 000

* 14,00000 * 80/100

= H

4,500& * 6,000kg * 80/100

= H

(BIREFSMHMEBIEXI)
o

20004 * 70/100

o1
S
o
S
S
I'J_
>*

> = H

= H

ESREIIXE)

= H

20,160

6,048
14,112

21,600

6,480
15,120

7,000

2,100
4,900

8,960

2,688
6,272

14,000

4,000
10,000

10,500

3,000
7,500

=

16,000

4,800
11,200

16,000

402 2IHE01M

=z H

16,000

4,800
11,200

16,000

01 2ItAEEx

=

16,000

16,000

4,800
11,200

16,000

= H

18,900

5,670
13,230

18,900

307 2120l A

= H

18,900

5,670
13,230

18,900

02

=
s
o
0z
HT
B B

O
ﬁ
K
S
=}

&M

QISTALRA X &

1,575,000& * 1& * 12&

= H

18,900

18,900

5,670
13,230

18,900

S

=
0
0%
ry
2

1,253,875

259,133
73,340

93,894
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SN
X XH .
S Tt

el

SEBIER
HEZADIE T (S
IIEFYY 2

SN CR(EH) - NRAY - BES

[
2

20
B
2

=

213,629
707,773

= H W

391,635
220,913
85,361
85,361

324,678

66,957

206 M=l

=MW

260,127
155,159
52,484
52,484

324,678

A64,551

01 M= dl

260, 127,000& = 14|

= HnH

260,127

260,127
155,159
52,484
52,484

324,678

A64,551

301 LprE A3

= HnH

131,508
65,754
32,877
32,877

131,508

12 JIet24 =3

OHHXI M0l oAl XI&

2,000% * 109,590 * 60/100

= N W

131,508

131,508
65,754
32,877
32,877

131,508

= NN

242,000
38,220
26,754

177,026

194,400

47,600

= HnH

242,000
38,220
26,754

177,026

194,400

47,600

10,000& * 24,2005

= N W

242,000

242,000
38,220
26,754

177,026

194,400

47,600

SSYHE XA (2)

J

H

146,680
73,340
22,002
51,338

142,048

4,632

206 M=l

>y

32,680
16,340

4,902
11,438

31,648

1,032

01 MHEH

32,680

31,648

1,032
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x

‘

SN
X XH .
S Tt

el

=
02 rx M
S

Moo
AR
0%

T M
TR
W2

2 i

SA-EFH - SA(SAH) - MREAY - BES O

22
J2
=2
Rl
12
==
S
Ol
0

r

OssgHe MESHIX&  16,340,0008 * 25 32,680
16,340
4,902
11,438

= mn X

301 LEt2HS 114,000 110,400 3,600

57,000
17,100
39,900

= mn X

o= 114,000 110,400 3,600
2R 2SHIXE 60,0008 * 1,9002 114,000

57,000
17,100
39,900

>y

IIEHEUSEME(E) 257,730 241,030 16,700

79,512
178,218

= H

206 M=l 121,570 106,480 15,090

36,471
85,099

=z H

01 M=Hl 121,570 106,480 15,090
OFHS & HAAND(ASAF)
10,000& =+ 3,920kg 39,200

11,760
27,440

= H

OTHY S gAY (L)

6,000& » 560€ 3,360
1,008
2,352

= H

ONEZEHL AR AAMS (SO0LREAE)

15,000& * 1,0805 16,200
4,860
11,340

=

)
L0002 * 3,7205 14,880
4,464
10,416

= H

ONEHUYAN AL (S L)

10& * 3,053,000 30,530
9,159
21,371

= H

3,000& = 5,800 17,400

5,220
12,180

=

301 Let2a= 68,310 80,850 A12,540

22,686
45,624

= H

12 JIEtE2 o= 68,310 80,850 212,540
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A SIS HEH
M MBI L (SHHLSM/5Y - 55)
el =gy 23 (St &=
_ _ bSNE =
2AH -3 - SH2A(SH) - MEAMY - BHES 0] Ao @;OH Hl =2
OJisgaolAd| X (2242 HWEH!)
10,0002 * 1,830 18,300
[= 3,843
Al 14,457
Ol 2y XN (WELES A=)
1,0002 * 11,6105 11,610
[= 3,483
Al 8,127
OF=Eel = 800,000 * 128 » 49X 38,400
[= 15,360
Al 23,040
402 QIREXH=0|A 45,850 46,900 A1,050
[= 13,755
Al 32,095
01 QI2tR=2EX 45,850 46,900 A1,050
OASANEXNE(ZERL)
3,000,000 * 200HA * 70/100 42,000
[ 12,600
Al 29,400
OASAEXNS (SIHE)
500,0002 * 110H24 * 70/100 3,850
[= 1,155
Al 2,695
405 KHAHE SH 22,000 6,800 15,200
[= 6,600
Al 15,400
01 ML ESEFSH| 22,000 6,800 15,200
OYAXH XA 22,000
—ZSYHY ASEHRY
4,000,000 * 5CH 20,000
[= 6,000
Al 14,000
— M ERAYAFY XA 400,000 * 5CH 2,000
[= 600
Al 1,400
Edgy oy 215,830 217,825 1,995
101 Q1A H] 3,000 3,000 0
04 JIHZ2Z2NEES 3,000 3,000 0
OA B4 AXE 2 22
100,000 * 19 = 303 3,000
201 LEt2HH| 27,430 30,980 A3,550
01 AFRZ2lH] 18,940 22,820 A3,880
O™ oflgt =& 1,500
—=2 2l:3 ME 3002 * 1,0000f » 3= 900
—840 M= 60,0002 = 1004 600
OFNe. B24det 23 F&A 4,700
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oF

dl

-

ol
W
H0
3D
H0
<
<k
50
S
a0
H
X0

K1 &

oz

I~ B

<M <) B0

~ KR

3D RJ K

=

TE T

IF RO )

e

n0

KIo

Bl w

330

H3ar
uiled
RIS

8,160

=
o

s

<J

900
300

3,000
500
1,000

1,000

1,140

3,600

6,000
8,490

10,000& * 90=
100& = 3,00004

—dAAZIAM M

1]
H
o

B0
R

X0
ol
_

=
=)

100& = 5,00004

[=x]
=

2l x 10

=

o

4« 2,0008 * 3
100,000

=

5002

HESE MA

03]

gl

=
=)

* 2

Xt
&

2l % 10

=

[=]

50,000

MEE woior® Fyl 2e

-

10
uo
Ho

20,000& * 579 * 18

v
=3
ol
4
4

o]
<+
ar
0
K0
H0

300,000& = 123

=
ol

.

KO
IH
=

-

<N
B0

80
K

OJt=

3

2l x 30

=

o

200,000

30
]3]
M0
M0

2,555
2,555

2,100
2,100
107,395
107,395

1,500
720
6,270
2,100
2,100
2,100
109,950
109,950
27,000
10,000
10,000
2,200
45,000
15,000
30,000
6,000
2,850
4,500

|
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=
=]
=
=)
=
=)
| —
T
2]

3

3

[uind

2 % 30

4« 298 + 15
* 250kg * 2

=

60,0008 128
200,000

[l
=]

A+« 250kg * 2

o
e

3,000,000& * 58
ol

2,700,000 * 1
10,000,000& = 3
190HEE » 3 10

[uins

& » 30CH * 50/100

e

=
*

70,000
[e]

20,000

ME

100,000

OJI=Z2YE HAAIZ SHbid]

4=

IS

At
=

=LH0dbl

01 M= bl

01

202 O
206 M= dl




SN Sl
o HESAD|B XL (SEHSSN/5Y - 5E)
ool JlEFYY 28 (el &2
_ _ _ N E
SN -EHH . (B) - MPAY - BE2 0 Ak o4 Sl aton HRE2
Oz4ad HII2 ¥88) 7Y
,2008 * 2,000 2,400
301 LetEaag 55,350 56,350 A 1,000
12 JIEtEA S 55,350 56,350 A 1,000
OXNEZY BISH ABAY AIZ WAL
2,008 * 4,005 8,000
O3+2 =% 800,000 = 4% » 12& 38,400
OIZUHERP &l £E82 300,000 * 9H 2,700
O B=2dety 2H2 UHY Helblg e
250,0008 * 505 * 50/100 6,250
402 22t =01 18,000 18,000 0
01 222 E X 18,000 18,000 0
ONEZY FIASAY SHAS X 18,000
—AS A4 3,000,000& * 1002 = 60/100 18,000
MADIEE 2 Y B 495,750 664,266 A 168,516
Il 117,232
& 73,249
Al 305,269
stRR=A(=) 167,475 185,625 A 18,150
Il 117,232
& 15,073
Al 35,170
301 Ypt8aag 167,475 185,625 A 18,150
Il 117,232
= 15,073
Al 35,170
12 JIEtE A= 167,475 185,625 A 18,150
OSD2RIAXA 3302 * 2,030 + 2502 167,475
] 117,232
= 15,073
Al 35,170
SRR () 12,440 10,672 1,768
= 3,732
Al 8,708
301 Ypt8asg 12,440 10,672 1,768
= 3,732
Al 8,708
12 JIEtE 4= 12,440 10,672 1,768
ORALSEIMNEAMY 58,000& * 1305 7,540
& 2,262
A 5,278
ORS2 AIAL
2,000¥ = 3,500 * 70/100 4,900
= 1,470
Al 3,430
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SN sYISME
M MBI Y (SHHLSM/5Y - 55)
CHel: MabD|E 1= Y 29 EER-E
- _ _ HEE
SN SAFA) - MEAD - BES Off &+ ot 0Ol At o8 HmsS2
UYEX A (E) 60,000 60.000 0
S 12,000
Al 48,000
301 Let2a= 60,000 60,000 0
= 12,000
Al 48,000
12 JIEtE2 o= 60,000 60,000 0
OSYILEHBAAY
400,0008 * 3005 * 50/100 60.000
S 12,000
Al 48,000
AR JAS (E) 117,950 102,760 15,190
= 35,385
Al 82,565
402 22t =01 117,950 102,760 15,190
= 35,385
Al 82,565
01 2IEX=EE X 117,950 102,760 15,190
OLHTMAAS B LHF TR AY)
70& * 2,360,00004 = 50/100 82,600
= 24,780
Al 57,820
OYLHBUAABH(FHAZHXRAI)
3,500& = 20,200% = 50/100 35,350
S 10,605
Al 24,745
ZASMEHD(E) 8.000 8,000 0
S 2,400
Al 5,600
307 2120l & 8,000 8,000 0
= 2,400
Al 5,600
02 QIZtFAEX 8,000 8,000 0
OSMSEHEME IS MK
4,000,0002 * 20H4 8.000
S 2,400
Al 5,600
NSAMFIIEH =4 80,955 83, 155 A2,200
201 Let2E] 6,100 6,100 0
01 AtRZ2lH| 6.100 6.100 0
o4 29 =& 8.300
—s=q 60,0002 * 1504 900
—E£2= 300& =+ 2,00004 » 435 2,400
OZ4ts)t N|DM K¢
4,000& * 1002 * 38 1,200
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S SIS HE
M dBMI|E ZH(SHEHLSM/5Y - 58)
ol MA|E 2E U BE (Ete: & e
- _ _ HEE
SN HABIH) - NRAY - BES Off 4k 04 0l At o HDE2
OFMANYE 2| 2Z L2tp
20,0008 * 100§ * 55 1,000
OZXRMHE 24 48
30,000& * 1008 * 23l 600
206 M= Hl 1,000 500 500
01 M2l 1,000 500 500
OxRed2d(xzRY 7<) 500& * 2,00004 1,000
301 et a s 16,480 16,480 0
10 HAIAHIEA S 2,800 2,800 0
OF4&sIt W= ol 70,000& * 40 2,800
12 JIEt24s 13,680 13,680 0
ORASE ¢ 2F 13,480
—S= 8,000% * 2005 1,600
&3 1,800& » 6,600 11,880
OF4s0l DS FA4Y 200
—Jl== 100,000& = 1AlI2t * 23 200
307 212t01& 7,500 7,500 0
02 It a2x 7,500 7,500 0
O4s #mHAe
15,000,000& * 1JHA = 50/100 7,500
402 22t +=01S 49,875 52,575 A2,700
01 QIR =E X 49,875 52,575 A2,700
OMZBEE THl X2 (SX7L)
250,000% = 300ha * 30/100 22,500
Ogxgz MEES B)(2BY)2Y
7502 = 25,00008 * 50/100 9,375
ONEE =8 MMS HEAE 7Y X
300,0002! * 200E * 30/100 18,000
SAE AHISA & ER 33,400 28,100 5,300
202 O 1,400 2,100 A700
01 =LHAOYI 1,400 2,100 AT700
O=42 HBEAL FI}
70,0003 » 1H = 44 * 53| 1,400
307 2lztold 12,000 6,000 6,000
04 QIZHSALE 12,000 6,000 6,000
OS+zaz NI U SEEF A
3,000,000 =+ 43 12,000
402 2I2tt=E01A 20,000 20,000 0
01 Bl =Ex 20,000 20,000 0
OS4=4E 2y TR N
10,000,000& * 4Z = 50/100 20,000
JIE=ESs4E(E) 15,530 10,620 4,910
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SH: sYIISUE
A SABAD|E TN (SEHYSN/5Y - SE)
SRl MaDlE PE Y 29 (B9 @e
_ _ _ N E
SN FB - S2A(3) - MEAY - BES 0 &t o4 e HRE2
< 4,659
Al 10,871
402 Q12EXHE 0| F 15,530 1,520 14,010
= 4,659
Al 10,871
01 QIARERE 15,530 1,520 14,010
OJEINESH(EYLANESHENSNANY)
1,300,008 * 4CH * 70/100 3,640
= 1,002
Al 2,548
OJIENIESSH (T2 22| ATHH K2 AL)
5,00021 * 2,30004 * 70/100 8,050
= 2,415
Al 5,635
OINEINESL(NELUEXBAIY)
16,0001 * 30074 * 80/100 3,840
= 1,152
Al 2,683
ey =M 54 509,400 369,040 140,360
= 132,300
= 57,870
Al 319,230
= NETY ENEIE) 291,600 108,200 183,400
= 132,300
= 47,790
Al 111,510
301 LB A 60,000 56,600 3,400
=2 30,000
= 9,000
Al 21,000
12 JIERAE 60,000 56,600 3,400
O & Z H| 200,0008 * 300ha 60,000
= 30,000
= 9,000
Al 21,000
402 Q12FXHE 0| F 231,600 51,600 180,000
= 102,300
= 38,790
Al 90,510
01 QIARZEE 231,600 51,600 180,000
ONES LM NS KR AL (HHI HFE)
17,000,0002 * 1141  80/100 149,600
=2 56, 100
= 28,050
Al 65,450
ONEREHelAEXIHAY OHEAIL)
10,400,008 * 1094 * 50/100 52,000
=2 31,200
= 6,240
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SN

w=of
[}
M MR
=

el AL e ER)
_ _ pSNE e
M- B S(3H) - MRAY - BES arey Gl o =2
Al 14,560
ONE2LMelAEXIAMNSE (UEREETHEI])
30,000,000& * 10CH 30,000
= 15,000
< 4,500
Al 10,500
S S AR AR ( 38,400 64,640 A 26,240
= 10,080
Al 28,320
402 SI2H 201 38,400 64,640 A 26,240
= 10,080
Al 28,320
01 SIZHGEEX 38,400 64,640 A 26,240
SEENELEESE
120,000& * 400MIE * 80/100 38,400
& 10,080
Al 28,320
e S 179,400 196,200 A 16,800
206 M=l 20,000 25,000 25,000
01 M= Hl 20,000 25,000 5,000
OMTH MU DM BN L HBZ SMK
M 10,000& = 2,000 £ 20,000
402 QI2HGE01M 159,400 169,500 A 10,100
01 BIZPGEEXR 159,400 169,500 A 10,100
OYbl=SdE dEUPMHa LEM 3
1,000,000 * 5200 A * 50 / 100 26,000
OFAM 3N E NMHEs
2,000& * 90,000kg * 50/100 90,000
oY SHR
10,000,000& = 82 * 50/100 40,000
O ASSI 2ERUNE ZET N8
200,000& = 345 * 50/100 3,400
s B8 11,800 10,800 1,000
Rllss Esz2el 11,800 10,800 1,000
201 LEH2HH| 1,000 0 1,000
01 AtE22/Hl 1,000 0 1,000
ORJls=s de7x & K=t
50,000& * 205 1,000
307 2120l & 10,800 10,800 0
05 2IIRAE =S 10,800 10,800 0
ORJIs=E Esa A 24l
900,000& = 123 10,800
EMTE A (s LM/ 5 - &) 108,255 171,230 AB2,975
= 30,000
= 7,200
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SN
X XH .
S Tt

el

sZJl=4H

SMXE MY (SRHY S

[=l=|

Iz 22

L RE-E

- SHRI(EAH) - NEAY - BE=

[
2

20
B
2

A 71,055
MIlE 23 108,255 171,230 AB2,975
= 30,000
= 7,200
Al 71,055
HEAZAR I (E) 24,000 36,000 A 12,000
= 7,200
Al 16,800
402 QX0 H 24,000 36,000 A 12,000
= 7,200
Al 16,800
01 DIZHAEEE 24,000 36,000 A 12,000
OB NBEES NETES AIAE 22
30,000,0002 #1744 * 80/100 24,000
= 7,200
Al 16,800
ZMDIEEO ALY 11,455 9,550 1,905
101 o121 875 1,750 ABT5
04 JIAH2RRSES 875 f,750 ABT5
OFB AL E AR QI AL
35,000 * 58 * 5 875
201 Y2 ay| 3,500 3,600 A100
01 AFR2relHl 3,500 3,600 A100
OB40 U DSDI HE 3,500
—HIOILE &40t RI=
50,0002 * 520} * 23] 500
—~WEDW FME 10,0002 * 320k * 1005 3,000
206 T2 H| 5,000 0 5,000
01 M=l 5,000 0 5,000
OFA WTZAF XKl 200,008 * 55 * 53] 5,000
301 YA 2,080 4,200 A2,120
10 BALAH B AD 1,400 4,200 A2,800
OZADI& & NDILE &4
70,0002 * 420 * 59 1,400
12 JIEHR A2 680 0 680
OSSO0l J£0i®E H2NS AL 680
-2 o EZhag 10,0002 * 43l 400
—oit| 70,0002 * 43] 280
YFEEP WP EA 6,600 17,600 A 11,000
206 T2 H| 6,600 6,600 0
01 M=l 6,600 6,600 0
O Al BAD|E AZ AAL 6,600
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M s€lis4dH

BH: SANE A (SEHSLN/5Y - 5E)

el |l B2 (ctel: &
SN HB SR (BIH) - A - B S 0l &b S D=2
- T - = S = &= 0:”/&,% WS
—42e U Ze % =05
30,0003 * 2205 6,600
Ft=E= 1,300 21,980 A20,680
201 et 1,300 1,300 0
01 AtS 22l 1,300 1,300 0
OFtl= AMEAY BEF 100,000& * 54 500
Os4&AAs Az I HA
4,000& = 1008 = 23 800
Dol 2 4,900 16,100 A 11,200
201 et 3,400 3,400 0
01 AtS 22l 400 400 0
Oz zela Ist| 100,000& = 4% 400
02 =234l 3,000 3,000 0
OZHISXHI(801E 8) 300,000& * 108 3,000
207 AN Y| 1,500 12,700 A11,200
03 A&l 1HI 1,500 12,700 211,200
OREZ SABRIA Al U HE
300,000& * 53| 1,500
IISASSHIAMEMG (MII=ESAE)(2) 60,000 0 60,000
= 30,000
Al 30,000
402 It XHE01H 60,000 0 60,000
= 30,000
Al 30,000
01 BIZPGEEXR 60,000 0 60,000
OFA e & WX 28 Al
30,000,000& * 2002 60,000
= 30,000
Al 30,000
SStxE Mg M (sgldsdt/sY - &) 2,674,900 9,826,765 AT,151,865
& 329,500
= 405,750
Al 1,939,650
S|y 3 235 1,922,000 9,147,500 AT,225,500
= 329,500
& 314,750
, Al 1,277,750
ZEFHAUENSMLASHAAHAME () 659,000 660,000 A 1,000
= 329,500
= 164,750
Al 164,750
307 QI2t0IA 118,000 165,000 A47,000
= 59,000
= 29,500
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SN SIlEHEH
HE: SRS MADIE XA (SYHLLLN/S5Y - 5E)
Sl EJlola 2 s (el & 2
_ - HEG -
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 il b o B2
A 29,500
EEEREES 118,000 165,000 A47,000
OZHIAAEI A (R A])
118,000,008 * 14! 118,000
3 59,000
= 29,500
Al 29,500
402 BI2AT RO 541,000 495,000 46,000
3 270,500
= 135,250
Al 135,250
01 pIZTEEE 541,000 495,000 46,000
OB 2 AE AL (A2 3})
541,000,002 * 14 541,000
3 270,500
= 135,250
Al 135,250
Ol AL ATRI S S K| R(E) 750,000 858,500 A108,500
= 150,000
Al 600,000
402 DIZHXHZ 0| 750,000 858,500 A 108,500
= 150,000
Al 600,000
01 pIZXEEE 750,000 858,500 108,500
OO A X Q 4 AT &
70,000,0008 * 7ha * 50/100 245,000
= 49,000
Al 196,000
OQIMESATHHNKI & (45 B2 T o)
766,6702 * 118ha * 50/100 45,234
= 9,047
Al 36, 187
CIIFSEIEWPEPETEED )
8,376, 14020 * 28ha * 50/100 117,266
= 23,453
Al 93,813
OQMDEINH BB AL S
62,272,73020 * 1174 * 49.9999/100 342,500
= 68,500
Al 274,000
NYAC S AL 502,200 0 502,200
201 L2y 2,200 0 2,200
01 At 2t 2,200 0 2,200
OB 201 AIBHS PH( QI A MBI BH A R ALY 2,200
—NesY £90I=28)
70,0008 * 119 * 23l 1,540
—N29Y LY (EDR)
30,0008 * 119 * 23l 660
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EAM: sgIIsHgH
M SSEZS M) I (sEHMHSSN/sY - sE)
oS SO12a 2 A5 (&9 ®M
. SIER
2N -3 - c2(3H) - NEME - HES 0] AFCH ‘Oﬂ/i\_Fo” Hns
401 Al&HI L2 500,000 0 500,000
01 Al&H| 500,000 0 500,000
Ost=olaES 2 (ol A MH2) HBAIS
500,000,000& * 14! 500,000
SEHFAZRNZS ML I HAHAILY 10,800 0 10,800
201 Et24| 10,800 0 10,800
02 s394l 10,800 0 10,800
OLEDAE Z B SXHI(HIIRZ, 2HY AI22)
900,000 = 12& 10,800
SESt&= Ma 752,900 679,265 73,635
= 91,000
Al 661,900
OFE M A BHE A () 65,000 76,050 A 11,050
= 13,000
Al 52,000
402 BIZHXFE20|M 65,000 76,050 A 11,050
& 13,000
Al 52,000
01 It =x 65,000 76,050 A 11,050
O3sHIHNF 8,190,000& = 1A 8,190
< 1,638
Al 6,552
Odg&adE Mz 20,145,000 * 1oHA 20,145
& 4,029
Al 16,116
OYAE EXI(A2F)
24,443,330& * 32 = 50/100 36,665
= 7,333
Al 29,332
MASH=SSH () 240,000 295,350 55,350
= 48,000
Al 192,000
402 QI2tXH=01A 240,000 295,350 55,350
= 48,000
Al 192,000
01 28 =x 240,000 295,350 Ab5,350
OASHSEH NSNS (HHEAIE KNSR
AMXR) 20,000& * 7,900m" * 50/100 79,000
= 15,800
Al 63,200
OASHSEZA NSNS (0ISANMSSMED)
8,000,000 = 4CH = 50/100 16,000
= 3,200
Al 12,800
OASHSMAMY|IE2Z XS (HA U X XI&-=Ete]
) 318,000 * 345.91& * 50/100 55,000
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SN SIlEHEH
HE: SRS MADIE A (SYHLSLN/S5Y - 5E)
ool SEES M (Sl &2
_ _ _ N E
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 Gl o HRs2
= 11,000
Al 44,000
OASHSMAYIH X2 (B4 B X X 2-A 0l
) 00,0002 * 200€ * 50/100 30,000
= 6,000
Al 24,000
OI& T A M A BHEH B ALY
30,000,000& * 4J4Z * 50/100 60,000
& 12,000
Al 48,000
SHE| AN S MR DX A (Z) 100,000 100,000 0
= 30,000
Al 70,000
402 AT RO 100,000 100,000 0
= 30,000
Al 70,000
01 BIZPGEEX 100,000 100,000 0
OBH3I M A AIE Z M H DX A ALY
40,000,000& * 5J0 At * 50/100 100,000
< 30,000
Al 70,000
R MY S 286,800 151,200 35,600
402 SIt X201 286,800 151,200 135,600
01 2 X2E X 286,800 151,200 135,600
ORxE 22 Ng
1,580,002 * 120ha * 50/100 94,800
O&&E =2 X 300,000& * 600ha * 50/100 90,000
OLXTA XY X2
10,000,0002 * 18744 * 50/100 90,000
OFMAS0F IS 48 HeHZD N
8,000,000 * 3004 = 50/100 12,000
ANEESE=E |4 61,100 56,665 4,435
301 EtEN = 2,800 2,800 0
10 EAAHIBAS 2,800 2,800 0
O0la U SXEI} WKOH B4
70,000& = 209 * 23| 2,800
402 It XHE01H 58,300 53,865 4,435
01 BIZPGEEXR 58,300 53,865 4,435
O E MiHsIh XA 58,300
—FBA EH
8,800% » 7,000& = 50/100 30,800
—dIEE 2,2002 = 25,0002 = 50/100 27,500
ASHE M) |2 (s /sY - &) 272,450 322,740 250,290
= 40,000
= 54,600
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2AM: Jledd
I IE 4ab)| Wit/ - 5E)
=l X TEiol= e mS
_ _ - MEg
- EH - HA(SAH) - MRAE - BES t Oll AF O Blusz
Al 177,850
Moo= 2 151,450 205,300 A53,850
= 40,000
= 19,200
Al 92,250
A0S Jls 7,450 0 7,450
201 2Bt 1,300 0 1,300
01 AtS2t2ibl 1,300 0 1,300
OJUZZ2S20F AIHAIY HEEHZ
100,000 * 5742 500
OZUZZS20F AIHAY Bt 800
— i 2,500& = 1002 = 23l 500
—s+=9 60,000& * 5K 300
301 etEd= 1,050 0 1,050
10 SAHAHIEA S 1,050 0 1,050
OEUXSEY=20F 273 J=HE 0]
70,000 = 538 = 342l 1,060
402 2I2tXt=01 A 5,100 0 5,100
01 SIAX=E XL 5,100 0 5,100
OosteA OlSAl XZHX AIHAL
14,000,000& * 0.3ha * 50/100 2,100
odx AZ ANEAY
4,000,000& * 1JH2 = 50/100 2,000
o S &5 AEA
2,000,000& = 1JH4 = 50/100 1,000
M MHIE1 (&) 64,000 184,000 A 120,000
= 19,200
Al 44,800
402 2I2tt=E01d 64,000 184,000 A 120,000
= 19,200
Al 44,800
01 2IZ=2ER 64,000 184,000 120,000
OAlE NUXZEZII=ES
30,000,000& * 1Al = 80/100 24,000
= 7,200
Al 16,800
OLenolg &= HEH&E S A
25,000,000& = 14 25,000
= 7,500
Al 17,500
Oz2t =N
15,000,000& * 192 15,000
< 4,500
Al 10,500
=g JIsAl lse=s)(=2) 80,000 20,000 60,000
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2 =IIsME
HE: ASHES MA)S2S(SHHSSA/5Y - 52)
CHel OHE N THHIIE 23 (9l @
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
= 40,000
Al 40,000
402 DI RH=0|H 80,000 20,000 60,000
= 40,000
Al 40,000
01 QI R=EE 80,000 20,000 60,000
OO X S A4 AH| = 2| 25 (91 &L TH 5l & = T of
DIEWNED 20,000,0008 * 14! 20,000
= 10,000
Al 10,000
Ou-it018 ROUGHE HIZAAHY J=23
40,000,0008 * 14l 40,000
= 20,000
Al 20,000
OD2=RAAIXIZE Al 20,000,00080 * 14 20,000
= 10,000
Al 10,000
Zolola B Jls 118,000 89,380 28,620
= 35,400
Al 82,600
DELESHSYAM(E) 118,000 50,000 68,000
= 35,400
Al 82,600
402 QI2HXH=0|F 118,000 50,000 68,000
= 35,400
Al 82,600
01 QIZR2LEE 118,000 50,000 68,000
OLEZHANESESAIY
10,000,00080 * 244 20,000
= 6,000
Al 14,000
OHIDZ QI A THHI DI 2 Al
50,000,0002 * 1744 50,000
= 15,000
Al 35,000
O 48 BH K1 25 01 2 8 Al &S
60,000,0008 * 1J§4 * 80/100 48,000
[ 14,400
Al 33,600
MIls 22 3,000 28,060 ~25,060
ABRS ASH TA 3,000 28,060 ~25,060
402 QI2HXH=0|F 3,000 25,000 A22,000
01 QIZR2EE 3,000 25,000 22,000
OZetXl RTHIL 018 25 MM 4B
NE 6,000,0002 * 1ha * 50/100 3,000
Lh401 A A (SRS A/ Y2 - o E) 25,250 24,480 770
< 7,155




SN SYIIEHE
BB L0 MADIB I (SPHSSA/HYEL - O E)

fe=)
Sl L0 By £4

B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
Al 18,095
=3 &3 =4 25,250 24,480 770
& 7,155
Al 18,095
UHWeHEAMNSIHEY & 20,000 20,000 0
& 6,000
Al 14,000
206 M=l 20,000 20,000 0
& 6,000
Al 14,000
01 =z 4l 20,000 20,000 0
OZ M XI 001 1,000& * 20,0000tel 20,000
= 6,000
Al 14,000
HEEIIRMAA(E) 3,850 3,080 770
& 1,155
Al 2,695
402 It X =01 M 3,850 3,080 770
& 1,155
Al 2,695
01 It GEEZ 3,850 3,080 770
OLAIINIHE=Z  550,000& * 10CH * 70/100 3,850
= 1,155
Al 2,695
=9 Tt&ae 1,400 1,400 0
201 Ler243d| 1,400 1,400 0
01 AtR2t2ld| 1,400 1,400 0
O3 LR H Al E 4,000& = 20004 800
Ol & 200,000& * 394 600
HY2AHU (SASHI|I=)(IIEHIIE 101,522 97,541 3,981
o3 2| 6,794 4,800 1,994
ol 2| 6,794 4,800 1,994
101 eIl 6,794 4,800 1,994
02 JIet8 2= 6,794 4,800 1,994
OZ3sYIE+9 23 ¥d=a
400,000& * 19 * 12& 4,800
OZSH AR A2t
5,538& * 30Al2F = 123 1,994
| =&l 94,728 92,741 1,987
Jl=23tl 94,728 92,741 1,987
201 L2 H| 19,878 17,891 1,987
01 AtR2t2ldl 19,878 17,891 1,987
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A sII=dH
HH: HHSIAZH(SLUSEI|I=0)(JIEHIIE
s J23| (&9 HM
i, _ _ pSIEN=
SAN-ZH-SA(FA) - NFAY - BES O AF K @/ZFB_I\E Hlw &2
O=SAMEX +¢ 13,0008 * 18%A » 128 2,808
OS20HAl I 5,000& * 641 » 188 * 128 6,480
Ooggt =22 100,000& » 128 1,200
OARL2 TN FYHI 50,000& 123 600
OARE =4&H| 8,790
—S A =2l 500,000& = 1CH 500
—ZgH 2l 100,000& = 5CH = 50/100 250
—SADI EY 200,000& = 53| = 1CH 1,000
— DEE(SW)EH  200,0008 * 53] = 5CH 5,000
—PC #=cl 100,000& = 18CH * 20/100 360
—JIELEH] =2 50,000& 128 600
—JIEF At 22l 5,000& = 18% » 123 1,080
202 o4 70,650 70,650 0
01 2HAY 70,650 70,650 0
OSHERI =N HRFE K 69,480
—2HHOdHl  20,000& = 128 » 18F * 128 51,840
— 2210l 70,000& * 14 = 18H 17,640
O2SE A=A (H| 1,170
— 2ol 20,000& » 4% = 1€ » 123 960
— 2210yl 70,000& * 3 * 1Y 210
203 YR =& 4,200 4,200 0
04 RA2ILRF=LH 4,200 4,200 0
ORNSILRFAH(FLUS R =1
350,000& = 12& 4,200
sHE FE(sEHHYM/5Y - &) 1,838,424 2,481,236 A642,812
< 353,543
Al 1,484,881
mSIE= 1,838,424 2,481,236 A642,812
[ 353,543
7 Al 1,484,881
siE =E5A 344,920 335,850 9,070
101 124 25,000 25,000 0
04 JIZHZZ2RSES 25,000 25,000 0
OUIgH At &0t ol& QA elAdl
50,000& = 5& = 100 25,000
201 et 4,800 5,850 A1,050
01 AtR2teld] 4,800 5,850 A 1,050
OsttEe RSH3 &€ =558 S 8% WA
60,000& * 100K 600
O=£=dg2 /s 4
70,0008 » 43 » 15Y 4,200
301 LerEAZ 300,000 303,000 23,000
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M s€lis4dH

i Sp2 SE(SHYHYEM/SY - 55)
ol REJIMTE (=CR-E
_ _ pSNE e
SA BB H(BH) - MBAY - B2 Ofl & o Gl o HRs2
12 JIEtE &S 300,000 300,000 0
Ost2+EE2Z N
3,000,000,000& * 10/100 300,000
402 BI2AX RO 15,120 0 15,120
01 UARELE 15,120 0 15,120
OWfe AlDH 4% 57 HEEYLR X
36,0002 * 6004 * 70/100 15,120
SASIHBAY S4 1,400 1,400 0
301 YBrEA3 1,400 1,400 0
10 BAHAHIBA S 1,400 1,400 0
ONZHURE U 25 AIMDS OHIBA
70,0002 * 102 * 22 * 1] 1,400
SHSM REME 2Y 50,000 0 50,000
207 ALl 50,000 0 50,000
01 dRgoy| 50,000 0 50,000
OUSHILE AN OE SAHE ANLZH
S(BEXAHH) 50,000,0002 * 14! 50,000
Si2 $EEX(F) 1,169,980 373,000 796,980
= 271,906
Al 898,074
301 YsrPAS 790,880 345,000 445,880
= 158,176
Al 632,704
12 JIEr2 A2 790,880 345,000 445,880
Ol sNSLESTH N 790,880
— A DL 2EES
2,100 * 927,000 * 40/100 778,680
& 155,736
Al 622,944
—m JIE MM SAS
1005 * 48,0002 * 25/100 12,200
= 2,440
Al 9,760
402 AT RO 379,100 28,000 351,100
= 113,730
Al 265,370
01 UARELE 379,100 28,000 351,100
O+BSABESUCAMAH DAL
7,000,002 * 80/100 5,600
= 1,680
Al 3,920
OSMSHESY MALT
747,000,000 * 50/100 373,500
= 112,050
Al 261,450

_86_




SA: Sl HE
Hu: =02 SS(SEHYS/SY - 5E)
el RSJ|U RS (Ete: &
_ _ HE T
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot HwsZ
SAMAEIB MR (T) 272,124 0 272,124
= 81,637
Al 190,487
402 QX0 272,124 0 272,124
= 81,637
Al 190,487
01 DIZHAEEE 272,124 0 272,124
OSAZIITAAKA  907,080,0002 * 30/100 272,124
= 81,637
Al 190,487
EFOIY (WY SN/ - 5E) 658,320 699,820 A41,500
= 8,600
Al 649,720
CENER = 658,320 699,820 A41,500
= 8,600
Al 649,720
NER R 97,120 174,520 AT7,400
201 Y2yl 60,400 62,000 A1,600
01 ALR 22/t 32,700 62,000 A29,300
O=SH2 NB#A EHES(138)
50,0008 * 407H 2,000
O=SHE IBHA 222 M
3002 * 10,0000H 3,000
O=Sae MBS THM HME
5002 * 5,00004 * 34! 7,500
OR+=SH2ERR 25729
00,0008 * 10Z * 53l 5,000
ODBIg =0T 220 B2 E22 7Y
10,0008 * 2% * 103 2,000
ODBIgS0E +5X2 AXE
600,0002 * 1CH * 103 6,000
OHICIRE WAL M=
4,000,002 * 14! 4,000
OSSHE Y 22842 HE
800,000 * 474 3,200
03 A2 27,700 0 27,700
OUANESg=sEL=E M= 27,700
—HANEE 2,000,0008 * 102 A 20,000
—AXE(ZY, 25 S)  100,0008 * 2004 2,000
—EHAH(BAY E8) 60,0002 * 2074 1,200
—E22(HUX) 10024 * 10,0000 1,000
—s2ceq 10,0002 * 102 * 2 2,000
—SAISZ(AIAE) 50,0008 * 35 * 103 1,500
202 01l 4,200 4,200
01 =2Uoi | 4,200 4,200
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2A: sgI=HH
A EE0IHE (sEMY /=2 - 55)
e zsaE 28 (292 8)
B . M. CHe (5 NEAS . T2 Al OH HEE Hl =2+
OUEZA =S4t2 oA &4 S22 ¢l
0,000& » 32 » 4F « 53] 4,200
301 LetEA 3 2,520 12,320 29,800
10 SALAHIEA = 2,520 12,320 A 9,800
OSSHE NBUA S2RY 24
70,0003 » 32 » 2% 63 2,520
307 QI2tol™ 30,000 96,000 A 66,000
04 CIZFHALE X 30,000 96,000 266,000
OS4+5SME VEAT 28
30,000,000& * 14 30,000
sEN=E B2 501,200 491,700 9,500
201 Let23| 483,200 466,700 16,500
01 AtE222|Hl 476,000 459,500 16,500
Os=It &1 444,000
—Tv&1d 10,000,000& * 3 * 43 * 3HE 360,000
—ctbe&n
1,000,000& » 72 » 43 = 3 & 84,000
Ootizusan 18,000
—UEAl Xote2&1
3,000,000 * 29H2 = 303 18,000
O=sS&tg 208 FIUE+ 9,000
—SANE= 3,000,000& * 344 9,000
OS82 SEE2AMAl AlA ANSE sS4&=
2 500,000& * 103l 5,000
02 23234l 7,200 7,200 0
OsE¢tE s2208 M|z
200,000 = 3 A = 12JH& 7,200
301 et A3 18,000 25,000 AT7,000
10 SALAHIEAZ 18,000 25,000 AT7,000
OsS4&E8 EBUA &sda2 B4
6,000,000& = 33l 18,000
OH2AAIE JHH 18,000 20,000 A2,000
202 O4H| 18,000 20,000 A2,000
03 2ALR0 Y| 18,000 20,000 A 2,000
Odfi2AANE EE 3,000,000& * 2% = 33| 18,000
XA 8 10,000 3,600 6,400
201 et 10,000 3,600 6,400
01 AtSR2t2ldl 10,000 3,600 6,400
OseolAmE AERY HE
10,000,000& * 14 10,000
AEEANZEIX () 12,000 10,000 2,000
& 3,600
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2N sgII=HH
B EL0HE (SHAS /5D - 5E)
Col sSA2 ER (=5 ED
_ _ SIEN
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
Al 8,400
301 LptEasg 12,000 10,000 2,000
& 3,600
Al 8,400
10 HALAHIZ &3 12,000 10,000 2,000
OAZEAIZEIAA 2,000,000& * 63l 12,000
= 3,600
Al 8,400
i sitesE2d 3N D(E) 20,000 0 20,000
o= 5,000
Al 15,000
301 LetEaag 20,000 0 20,000
& 5,000
Al 15,000
10 ALAHIE &= 20,000 0 20,000
Ol H=EHIIA M XA 20,000,000& * 14 20,000
= 5,000
Al 15,000
BHE e (sl s5g - &) 787,880 655,700 132,180
= 40,000
= 52,200
Al 695,680
SEAE B-E Y 787,880 655,700 132,180
= 40,000
& 52,200
Al 695,680
f+ SSNE BEHE oS5 293,380 299,200 25,820
201 LBt 3| 293,380 299,200 25,820
01 AtS 22/l 293,380 299,200 25,820
OUYZ0IA ABHE (AT, 014
25,000,000& * 2&8<= 50,000
OUEA dHl=sZ 2dE 82
6,000,000& * 30HA = 1293 216,000
OdHER ¥ S=HI
1,000,000& * 50H&E » 1R 5,000
OdtlsZ dofIA3 doxg
70,000& * 8H * 23 1,120
OdtlsZ S22 do=H
70,0008 » 9H = 23 1,260
OddlsZ ZE M CIAe) Il
10,000,000& » 28= 20,000
EZEM HE A 280,500 230,500 50,000
402 LIt XHE01H 280,500 230,500 50,000
01 BItGEEX 280,500 230,500 50,000
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SN SeIlEHE
HE: SUC HL(SYHYLL/5Y - 52)
Ol SSAS SRS g (et @@
_ _ _ Muo
SN EB -GS - MBAY - BES arey e HRE2
ONbl=Z ABXNEES ZHHAE X
3,008 * 8Z= * 6,50000 * 50/100 78,000
OSEZYME AIST TR ME X
1,0008 * 722 * 30,00004 * 50/100 105,000
OZIAMTHY ME X & 45,000
—17HEA 3002 * 300,00004 * 50/100 45,000
OS+=SHe TR ME X
1,500% * 582 * 10,00004 * 50/100 37,500
OY=20f T M= N
1,002 * 5 * 5,00004 * 50/100 15,000
2LEMNSFLNR(T) 142,000 36,000 106,000
= 42,600
Al 99,400
402 AT =O0IA 142,000 36,000 106,000
= 42,600
Al 99,400
DIEEETEES 142,000 36,000 106,000
OYSRes4E SUCH
284,000,008 * 141 * 50/100 142,000
= 42,600
Al 99,400
SAAM FEsH(2), () 72,000 90,000 A 18,000
= 40,000
= 9,600
Al 22,400
307 Q1201 72,000 90,000 A 18,000
= 40,000
= 9,600
Al 22,400
EEREES 72,000 90,000 A 18,000
OsgAAN SHC Zx3 T2 72,000
= 40,000
= 9,600
Al 22,400
YRS (STHYLM/5Y - &) 322,500 302,000 20,500
= 45,000
Al 277,500
TERE] 322,500 302,000 20,500
= 45,000
Al 277,500
=22 X & 172,500 300,000 ~127,500
301 YErEA3 165,000 165,000 0
12 JIEtE A2 165,000 165,000 0
OAr2H AZH X
30,0002 * 8,000 * 50/100 120,000
OeddiEl X 5,008 * 18,00024 * 50/100 45,000
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2A: sgI=HH
AMo=

M AHRE(sHNLHM/=sg - 5&)
chel: Z=ze| (el &)
_ _ PN ==
A -3 -H2A(SH) - HEAMY - BES Of] AF R 'oﬂ/'\_FOH Hos
402 212t X201 A 7,500 135,000 A127,500
01 SIAGEEX 7,500 135,000 A 127,500
OHUlE & =& H& X
1,000€ = 15,00000 * 50/100 7,500
g2 X (%) 150,000 0 150,000
< 45,000
Al 105,000
402 212t XH=01H 150,000 0 150,000
& 45,000
Al 105,000
01 2IEXEE X 150,000 0 150,000
OZSAMABME SHUSAIL
300,000,000& * 141 * 50/100 150,000
(=S 45,000
Al 105,000
RS (sElHYSM/=s2 - &) 878,868 725,528 153,340
& 101,288
Al 777,580
IS 25t 878,868 725,528 153,340
= 101,288
Al 777,580
=22 XA 450,628 475,628 225,000
201 ety 9,220 9,220 0
01 AFR 22l 7,220 7,220 0
(@F=R=lE = x| 4,000
—a EEE ME 4,000
e s =9t 250,000& * 435 1,000
AEIA 50& = 10,0000H * 2= 1,000
el=zl 100& * 20,0000 » 1= 2,000
OYFANNEEHED| NESES =Y
70,0003 = 239 * 23| 3,220
02 22234l 2,000 2,000 0
03323 % HMA 2,000
— A LT AIEZSE2E 2E3
2,000,000& = 13 2,000
202 Ot 2,100 2,100 0
01 =LA b 2,100 2,100 0
OW==STHAL 2 =X
70,000& » 2% * 32 = 53| 2,100
307 olztol™ 386,808 381,808 5,000
02 2ItBAE X 226,808 226,808 0
OZ=SAt E2AH(RYZ)XE
20,000,000& = 13 20,000
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2A: sgI=HH
M3 BARS(SRHLLL/5Y - &)
el BAREAM 23 GO
B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
otlgel =&At X 33,000
~SEHE bl N2
1,2002 = 30,0004 X+ * 50/100 18,000
—e2atl N
1,0002 = 30,0004 X+ * 50/100 15,000
ORSdH 3 AN sJF dgd X
1,200& * 426,000& X+ * 34/100 173,808
04 CIZFHAE R 160,000 155,000 5,000
OI A ESHA XN 120,000
— AL SEFEA 30,000,000& = 43| 120,000
OXE=N & E2A X 40,000
—HMIEET XA 30,000,000& = 13l 30,000
—Y2X9 1= SEES#A XS
10,000,000& = 12l 10,000
402 QI2tX=01A 52,500 52,500 0
01 SIZtGEEZ 52,500 52,500 0
OAtt=ESIHE M) EAMEE X &
1,050,000& * 100ha * 50/100 52,500
AE=RUYIIUSH(T) 271,440 234,900 36,540
= 54,288
Al 217,152
402 212t XH=01 A 271,440 234,900 36,540
= 54,288
Al 217,152
01 a2t 28x 271,440 234,900 36,540
Ot sitE =334 NLOAY
243,000,000 = 60/100 145,800
& 29,160
Al 116,640
OUlLelAtn HZ3AS
209,400,000& * 60/100 125,640
& 25,128
Al 100,512
HEAPCZ2I(Z) 156,800 0 156,800
& 47,000
Al 109,800
402 QI2HX=01A 156,800 0 156,800
= 47,000
Al 109,800
01 SIZtGEEZ 156,800 0 156,800
OHEAPC 2ZE LKA
24,000,000& * 141 = 70/100 156,800
& 47,000
Al 109,800
HY2HZHI (S SOHAE D) (JIEH/IIEH 60,116 63,047 2,931
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SN SIS HE
Hu: WHSAH(RSOHNY D) (OIEH/IIE)
S RS (Ere): & 2
SN - EH . S(3) - MRAY - BES Off & o4 e HREZ
SIEEE 60,116 63,047 £2,931
Jl=3Hl 60,116 63,047 A2,931
201 LEH2 | 14,656 13,727 929
01 At 2t2lbl 14,656 13,727 929
0472 TAHTY L NREX RS2
50,0002 * 128 600
OJlet ARSI 5,000& ~ 118 » 123 660
E20H A8 5,000& = 64 = 118 128 3,960
Ogtte=rg 100,000& = 123 1,200
OSAEX 28l 13,0008 » 1182fA « 128 1,716
Oanl =44l 6,520
—S A 2 500,002 * 14 500
— eI =2 100,000 = 4CH * 50/100 200
— =AD& 200,000& = 52l » 14 1,000
—TRIEI|(SH)E
200,000& = 53| = 4CH 4,000
—PC =2 100,000 = 11CH = 20/100 220
—JIEtEHl =2l 50,000& = 128 600
202 O 42,460 46,320 A3,860
01 WAL 42,460 46,320 A3,860
SE0HYD P2E oY 42,460
—LHOIH 20,0008 * 122 + 11 * 128 31,680
— 22/l 70,000& 14 + 11H 10,780
203 LR =& 3,000 3,000 0
04 2EA2SEEFAH| 3,000 3,000 0
ORAM2SYR=AH 250,000& = 123 3,000
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